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1. Answer/Choose the correct answer from the
following : 1x8=8

{fa) Odd-even formula adopted by the
Government of Delhi was related to
pollution sourced from

(i) industries
(ii) vehicles
(iiijj residences
(iv) shops
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(2) (3)

(b) Converting solid wastes into (e) Give one example each of biodegradable

ble 4
Products is called - etighiion=blode Kt el A AR
(i) reuse
o () Which of the following is/are correctly
() recycling matched?
(i) watershed Mmanagement (i) Climate change—Global pollution
(iv) residue (ii) Acid rain—Regional pollution
il Smog—Local pollution
(c)  Allocation of pro { i R
e Perty rights for optimal (iv) All of the above

associated with
Which of the following is incorrectly

() Kyoto protoge) ()
25 matched?
(@) WTO
(i) EIA : Environmental Impact
(if) Ronalg Coask Assessment
() All of the above (ii) 1SO : International Orga.;liza;.ionﬁfor
Standardization
(@ Maximyy, amount of (iii) MoEFCC : Ministry of Environment,
Permitteq by the g & pollutant that is Forest and Climate Change
“8ulatory Bog
y is

(iv) Noneé of the above

(iii) emission e (n) Give one example of watershed

management.
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(5)
(4)

2. Write notes on gn

hat are the assumptions of
- 4. (a) Wha

Y four of the following

(within 150 worgg

! ith a
Explain = wi
theorem?
se )
4x4=] o how bargaining between two
s A 5 c; ltimately generate an
' i u
arties Wi : roperty
Resource €Conomics and environmental :fﬁcient outcome, even l;f ﬁpg fI;rm
; ) ollutin i
€conomics right is assigned to the p 4+8=12
of

(a)

(b) Reasong for

mismanagement
common Property

Or
eésources (CPR)
(c) Environmenta.[ Standarqd

: examples
ities. Write two
e externali
(b) Defin

tive

h of positive and negati
eac

(d} ReleVanCe Of Stro

. rocess of
—— s Explain the p
ng Sustainability in externalities. pxtemality through
contemporary, world internalising € tion 2+2+8=12
5 ter.ven X
vernment i1
(€) Carbop trading £e
1
d and contro
1 the comrnarn . the
Answer the follq : ol Explain solving
each) : A B duestions (Within 500 words ™l approaches L3 lems. Do you
: environmental prob ‘;Ch'nology_ba-sed
: that : K
% i@ Define TeSource 454 Tesiduals. Explain thih is more suitable in less
A als. s ify your
Wwith €Xamp|eg : metho ies? Justify
. and the ountri =11
llnkages e .dlagram, . developed ¢ 6+5=1
d en COvironment an | nion.
GVEIOpment. 2+2+741 op
Or
Or the emission
. ith diagrams, .
) Define ecol (b) Bxplain Wit bleg;ollution pemmit as
Explajn 2 'Ogy and €nvironment. fee and trada
‘fonment as an economic
a 0
Sset wity, € help of €xXampleg.
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(6 ) (7))

i i Oor
the two Incentive-based solutions to

the : ! .

rnethoecll.l Vlltonmental problem. Which (b) Explain the environmental problems in

co ° more familiar in the with special reference to
ntemporary world? 5+5+17 Assam

deforestation, solid waste management
and watershed management. Suggest

. . l

i problems.

Explain the different

Sustaj
Stainable development. What ar¢

the pr
2 P o}'Jlerns of Selecting S Bt nlis ek
Ustainabilityp 7+47)

indicators of

Or
(b) Explain the

Environmentau Steps  involved i

Impact  Agsessment:

]
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